
C G A T A G G T T C T A T G T G G G T A C C G G T C T T T C T C G T G T G G T G T A T C G G T C G A G C C T C T A C G C G A A C G C G T T G G G C G G T G T T T C G T G T G C G A G C G C G A G T A G C G A T T C A T C G T T C A C G A G T G C G A G C A T C G G T G T T C G G C T T G C C T T C A G G G G C A T A A T A C G C T G G G C G G G C A G C G TSequence

[0 - 203]

G C A G A T A A C A G G

A

G G A G G

G G A T A T A T A

G G G T A C A

G G G A G A T A G T

A G G T A C A

G T A A A A G G T A A A T A A A T A T A T C A

T A G G A G G G T A C A

T A G G A G G

G G A G G T A C A A

G G A

G G G

G G A G G G

G

G A G G T A C A

G G

A G G T A C A

G A

T A G G A G G A

T T A A A T A T A T A

T T A A A T A

G A G A G T A T A A T G

C G T

G A G G T A C A

T A A G T A A G A T A T A

G G A G G T

T

G

22,560 bp 22,580 bp 22,600 bp 22,620 bp 22,640 bp 22,660 bp 22,680 bp 22,700 bp 22,720 bp

174 bp

1013_scaffold1563

Fig. S1A



C T C C T G T G T C G C C A A C T C C A A C T A C T C G A G C A A C C C G T C G G C A A A C T C G G C G T G G T A C T A C T G G C T G C G G G A C G C C T A T G C C G G C T C G G C C A G C A G C G C C C G C T A C G T C A T C T C T G A C G G C G C G C T G A G C T G G A A C A G C G C C T A C G A C G G C G A C G G C G G C C T G C G C C C C G C T T G T A A T C T G T C C T C T G A T C T C C T G A T C T C C G A C A C C ASequence

[0 - 380]

T C C T C G C A C G A G A C G A

T A C T C G C A A G A T A A C G C

C G C T T T

G T A A G T T A A C T A T G T

G T T A A A A T G T C G T A

A

C G C A A G A T A C T T T C G

G A T C A C C T T T C C

C

C

G G A C A A G A T A C T T T C

C G A T

T C C T C G A A G A T C G T A

T

C G G A G A G A T T A C T T T T G

G

G

G T A T A C G G A A G A C T T T C

A G G A C G A A A C T T T C

T T A C T C G C A A G A T A T T T C

C C T C C T C G C A C G A G A C G A

C G C A A G A T A C T T T C C

T T C

G A G A G G T T T T A

C T C C T C G C A

C G C A A G A T A A C T T

C G C A A G A T A C T T

T C C T C G C A A T A C T T T C

C G C A A G A T A T T C

C G C A A G A T A C G T A

C G C A A G G A T A C T T T C

T G T T A A C T A T G T C T T A

G A T A C T T

C G C A A G A T T A C T T T C

C G C A A G A T A C T T T C

A C G C A A G A T A C T T T C

G C G C A A G A T A C T T T C

T C G C A A G A T A C T T T C

T T C

C G C A A G A T A C T

C C C G G A C G A A C T T T C

C G G A A G A T A C G C G

T A C T A

6,420 bp 6,440 bp 6,460 bp 6,480 bp 6,500 bp 6,520 bp 6,540 bp 6,560 bp 6,580 bp 6,600 bp 6,620 bp

208 bp

2209_scaffold441

Fig. S1B



G C G G G A T T G C C T T A G A T G C T G G A T T A A A A G C A G A A G C C G A A G G C C A C G C C A T A C G C A A A G C T C G C G T A G T T G A A G G C G G C G G A G C C G C C G C T G T T G A C A T T G C A G A A A A G C G C G G A G C C G C T G C C A C T C G G A G A G C G C C C C C A C C A G A T G T A C G C G C T G C C G T T G T A G T T C T T C A C C T T G C T G T T G C C T G C C T T G T A G T A G T C GSequence

[0 - 636]

T A A A T T T C T T A C C C T T T T A T

C A C G C T T A T G A G A T T C T A T T C C C

A C G T C C C C T A C C A A G T A T C T A T A C T

A T T C T T T T T C T A T G A T A T

T A A A T T T T C T T A C C C T T G C C

G T T C T T A T T T T A G C G

G T T C G C T T A C

G T T T A C G C C T A T A C

A T T T C T T C T T T A T G A T A T T A T

T C T T C T T A C T A T T A T T A T

T A

A T C T T T T T T T G T G A C T C

A C G G T T T C T T C G T T A G T T

T C T T T T T C G A T A T T A T

C C T T A T C T A C G C C T A T A G C A T

A T T A C G C C T A T T A T

T T C T T

C C A T A T T T T

A T C T T T T T C T A T T A C T C A T

T T

C T G T G T T T C T T C G G A T A T T A T T C

C C T T T C C T A T T T C C T T T A T T

A C G C T T T T

T T C T T A T G A G A T T A G C C

A A T T A T G T T T C C G G A C C T T T T A T A T

C G G C T C G C T T A C T C G T A C T A C T

C G G G C T T T C T T A A G T T T A C T C A T G A

T T G T T C T T A T T T T A C

C G T T C T T A C C C T T T A T

T C G T T T C T T C G T T T T A

A T G A G A T T C G C T

T T C T C G C T T A C A

C C

A C C G G A C C T T T T A G C C

T T A T A G T T T T C G G T G C C

C G C G C C C T A C C T T A T T G T T A C T

T C T T A C C C T T T A T C A

T G T T C G T T G T

G G C C C G G T A C C T T A T T T T A T

T A A A T T T T C T T T A G G A T A G T T A T T

C T G T G T T T C T T C G T T T T A T

T T C A T G A G A T T C T A T

C C C C G G A C C T T T T A C T

C T G T G T T T C T T C G T T A T T

A T C T C C T C C C A C C T T T T A C T C A T

C G T C C C C T T T A C T A T G A T A T T A T

A T T T C T T A C C C T T G A C T C

20,900 bp 20,920 bp 20,940 bp 20,960 bp 20,980 bp 21,000 bp 21,020 bp 21,040 bp 21,060 bp 21,080 bp

204 bp

2209_scaffold64

Fig. S1C



C C C G T C G G T G T C T G T T G A A T C G G A T A C C A G A T T C C C A G A T T C C A A A T A C A A A G C C G G C C G A A C G C C A A T G T T G C C A A G G T A C G C G C G G C C G T T G T C C A G A C T G C C G T C C G T G T A G A C A T A G C G C G C A A G G T A C G C G T A G C C G G C G T A C G G G G T T C T A A G C C A C C A A T A C C A A T A A G A A G A C G C G T T C A A G C T G G A A T T T G TSequence

[0 - 142]

G T A C C T C T T C C T C T T

T

C C

C G A A

G G T A C T C T C A A C A C C

T A C T C T T

A T T T C C T C T T T C T

T A C C T C T T C C T C T T T G

T C C C T T C C C C C C C

A T T T T C A C C C C

G G T T T A A A C C T C T C G T

C G A A C T C T C A A C A C C

C G A A C T C T C A A C A C C

T C

G

C A

T A C C T C T T C C T C T T T C T

A C T C C T C T T T C T

A T T T T C C C C C C C C G C G

C G A C C C C C C

C G A A C T C T C A A C A C C

G

C G A T A C T G C C C

T A C C T C T T C C T C T T T C T

G T A C C T C T T C C T C T

C C C C C C

A T T T T C C C C C C C

A T T T T C C C C C C C

A T T T G

A

A A C T C T C A A C A C C

T

T A C

A A C T C T C A A C A C C

C A C C

C C A A C T G A A C T C G

T C C T C T T T C T

A T T T T C C

A

C G

T T C T

A T T C A C C

11,120 bp 11,140 bp 11,160 bp 11,180 bp 11,200 bp 11,220 bp 11,240 bp 11,260 bp 11,280 bp

201 bp

2210_scaffold709

Fig. S1D



T T A A A C G C A G A A G C C G A A G G A C A C G C C A T A A G A G T T G T C G G C G T T G G T A T C G T T G G C G T C T C C C G A A C T G T T C A C A T A G C A G A A A T A G T T G G T G T T G C C G C T A T A A G G C G A A C G C T C C C A C C A G T A G C C C G C A G A A C C G T T G A C C T T C T T A A T T C T G G T G T T CSequence

[0 - 94]

G T T C C G C C C C G C T T

G T T T C C G C C C G C T T

C

T T C C G C C C C G T

T A

G T T T C C G C C C C T T

C T C T T

A T C T A A T C T A T A C C T T T

G T T T C C G C C C C G T T

A T C T A A T C T A T A C C T T

G T T T C C G C C C C T T

G T T C T C C C C C C C C G C C

T C A C C T

G G T C

G C T C A G

A C C T C C C C G C T T

C C C C C G C T T

G T T T C C G C C C C G

C G C C G C T T

A T A C C T T T

G T T T C C G C C C C T T

T

C T T

8,660 bp 8,680 bp 8,700 bp 8,720 bp 8,740 bp 8,760 bp 8,780 bp 8,800 bp

163 bp

1013_scaffold1713

Fig. S1E



C T T T C G C C G G T C C C C A T C A G C T T A C A G C G A G T C A C A G A C G C A C C A C A C G C C A A C G T C C G T G C C C A C G T G C C A C G G A T A A G A G T T G C A A T A C A C A G T C C G C G A A C C A T C G T G A A C C C C G C C G T T C C A A C G G C C A C C G C C A A G G A G C G C G T G C A A G C C A G T G T T G T T G G C C A T G TSequence

[0 - 164]

A T G

A T G

C T

T C C G C T

A T G

A T T T T T A C C G T C T

G G A T T A A G G C G T

A A T T T

A

T C T T G T T G C T A

T A C T A C T C C T C A T

A A T T T T T A C C T A T T T C

C G C C A C C C C A C T C C G A

T A T G

T G

T A

A T C T T T C

A T G

A

A A T T T T T A C C

G A T C C C G

A T G

T T T A C C G T C T

A

C C T G A

C G T C T

T T T A A T C T T T C

A T G G

G G A A G A T G

A A T T T A

A A T T A

T T C T C

T A T G

G T C T G

A A T T T T T A C C G T C T A

T A C C G G C T A C C

A T

G C T T T A C C G T C

A

A A T T C C A T G T G

T T T A C C G T C T

T A T G

14,660 bp 14,680 bp 14,700 bp 14,720 bp 14,740 bp 14,760 bp 14,780 bp 14,800 bp

173 bp

1013_scaffold1877

Fig. S1F



A A A G A C G C T C C A C T A T A C T A A A A T G C T G C A A C C G C C C T C A C C A C G G T A C T G T A G C A C T T G C T G A G G T T G C C G A A G T T G C C A T T A C T A A A G C C C A C G A G C C A G C T G C C G T T C T G A C T G C C C T C A C T G C T A C T C C A G T A C C A A G A A T T A G A A A A A T C G T T C A A A A T A C C G G C A T C T A T T G C T TSequence

[0 - 142]

G C G

T C C A C

A T A

C C C A T A

T T T T A A A T C C C C T C T T A C T A T C T A

C C T A A

T

T C C T C A G G

T T

T C C

G C C T A T A C

T C C T C A G T T C C T G G G

T C T T T A G T T C C A T A

C T C C G A G T T C C A T A

T T T A G

C

C

C A T A

T T T A C C A T T

T T

G T C C

T G G A A

T C C T C A G T T C C A

C A T

T T C C T T

T T T A C C A T

C C T T

C A C T T

G T T C C A T A

A T C T T C C T G A

T T C C A T A

G A T A

40,220 bp 40,240 bp 40,260 bp 40,280 bp 40,300 bp 40,320 bp 40,340 bp 40,360 bp 40,380 bp

181 bp

1013_scaffold24

Fig. S1G



C A C T T C C G T G G G C T T G A T A C T G T T G A T G C A G G A T T A G A C G C G G A A A G C C G G G G C G A C G C C A A A G G A A T T C C C T G C G T A G C T A C A G C C C G C G G T G C C G T T C G T G T G C A C A T T G C A G A A G T T G C T G C C G C C G T T G C A A T A A G G A G A A C G C T C C C A C C A C C A A G C A G T G G A A C C T G T T G C G C T G T G A C G G T A T T T C A C C T TSequence

[0 - 147]

G T C G T T G C G C A T T T C T

T A T G T C T T T T A A G T T C

C C A T G T T T T A T A

G C C G T

A

T G C A T G A T A G T G C C

G A T T A G T A A T C C C T A C C A

T G C A T G A T A C G C G A T A A

T G C A T G A T A G T G

T A T T A T C T C G

A C T T A A C A G A T T A C T C G

A

T T A T C T G T T T T C A A A T A A

T A T T A A C T T A

T A T T A T C T G T C

C A G T A T T A T C T G T G

C T C C A T T T

T T A A T C C T T T T T C G G T T T A C T

G T C A T A T T A C T A

C C C C C A A T A T T A C T

C C C T A C C G T T A T

T C A A A G T A T T A T A

T C C C A C G A T C C

C T A C T G G A A T G T

G C T T A C G T A T C C C G T A

T T G G T T T

G A T C T G G T C G G T T T

G C T T T T

T T

G T

T C T

T T T A

T G

T

C C

T G C A C

T A C

T

T G A T T A G T A T C C C G T A

T G C A T G A T A G T G

G C

G T C T T A T T T A T A C C A T

47,580 bp 47,600 bp 47,620 bp 47,640 bp 47,660 bp 47,680 bp 47,700 bp 47,720 bp 47,740 bp 47,760 bp

198 bp

1013_scaffold3125

Fig. S1H



S P T P T G L Q T V T H A P H A K A R A H A P R V I V A I D G P R T A I H A V A P I A A A N E G A Q A S A X I H P R L
C C C A C C C C A A C G G G A T T A C A G A C T G T C A C A C A C G C A C C A C A C G C C A A A G C C C G T G C C C A C G C T C C A C G G G T A A T C G T G G C A A T A G A C G G C C C G C G A A C C G C A A T A C A C G C C G T C G C C C C A A T A G C C G C C G C C A A T G A G G G C G C G C A A G C C A G T G C T T G A A T A C A T C C A C G C T T GSequence

[0 - 143]

T A G G T

C G C T T C C T T T

T

A

T

C

T T A T A T A

C

G

A C C G

T T

C T A T

C

C

C

C

18,080 bp 18,100 bp 18,120 bp 18,140 bp 18,160 bp 18,180 bp 18,200 bp 18,220 bp 18,240 bp

174 bp

1013_scaffold47

Fig. S1I



G A G A T C A G A G G G T C A G T G T T C A G G A T T T C A A G G A C G G G G C G G A A A C C G A C G A G C G G G C C G A A G C C C G T A G C A C T G C C G T C G T C C C A G A G G C G G G C C G A A T A G T A C C C G C G A A T C G C A C G G C T C G A C G C G T T C T C C G C C C A G G T C T C T T G A C A C C A G G A A T A C A C G C C C G C C C A ASequence

[0 - 139]

T T T G T T T A T T T C C T G

T C T T G T A A A C C C C C A G

T A G A G A A A T T C T C C C

C T T C

T A

T T G T A A T T A C G A

T A G A G A G T A T C T T A C T

A C A A G T A A T A T C A G

T T G T A T T A T C G

A T A T A T T A T C

T T T A T G T G T T A G G C G C

C C T A G T T T C C T C

A G G G A A C

C

T A A A G T A A T A T A C T T T C A A

A C A G

C T C

T T T G T T C T A T T G A G G

G T A A A T A C

T T T A G A T T T T A T T C T C

T T A A G T A T A T T A T C A C T A C

C T A G A G A T T A T A T C

A G G G A T A G C

C T T G T A T A T C A G

A T G T A A T T A C G A T C C G G

T A T T G G T A C

T T G T G T C T T C T G C C C

T T A A G T A T A T T A T C A C C A

T T T A G T A T T T G A G C A

C T T G T T A T A T G A C C G

T A T C C G

C A A

C C C C C

G G C G

A C

T C A A

C A

T A

G G

1,700 bp 1,720 bp 1,740 bp 1,760 bp 1,780 bp 1,800 bp 1,820 bp 1,840 bp 1,860 bp

174 bp

1013_scaffold7838

Fig. S1J



T G C C G G T A T T T T G A A C G A T T T T T C T A A T T C T T G G T A C T G G A G T A G C A G T G A G T T C A G T C A G G G C A G C A G C T G G T A C G T G A G C T T T A G T A A T G G C T A C T T C T A C T A C T A C T T C A A G T G C T A C A G T T A C A T G G T G A G G G C G G T T G C A G C A T T T T A G T A T A G T G G A G C G T C T T T T G A C G C TSequence

[0 - 153]

T C G G

G G A A T A T G A C A G

G C T G A G G A G A G G T

A A G G

G T T C G G A A T

T A G A A C G G G G A C T G G

G G A A T A T G A C A G A G G G

A T A A G A A C G G A A A A C

G G T A G G G G G G G G A G A G G A G

G A T A G A G G G T

G G A A T A T G A C A G A G G G

A

C T

G G T A G T A A G A

G C T G G A C G G G A A G G

G G A A T A T G A C A G

G G G C T G A A C G G G G A

A G A A T A T G G G A C

G G A G C G G A T

G A C T G G

G C T G A T A C G G A G

G G C A G G G G G A G T

A A T A A T A C A A

G A C T G A G C G G A G G A C G G A A G T

G G A A T A T G A C A G T

G A C T G A G C G G A G G A C G G A A G

G G G A C A A C G G G A A G G

G T T C G G A A C T A

G A C A A C G G G A A G G

G C T G G

G T A T A A T A C

G G A C G G G G A

T T G A

G G T A G

G G A C G G G A A G G

G G

G G A A T A T G A C A G

G G G

G A C T G

G G T A G T A A G A

3,640 bp 3,660 bp 3,680 bp 3,700 bp 3,720 bp 3,740 bp 3,760 bp 3,780 bp 3,800 bp

178 bp

2011_scaffold1080

Fig. S1K



A A G A C C A G G T G C T C C G A G A G A G C C G T A C C A G C G A G C G T A A G A C A C C C C A A G G T C C G A G T A A C G G C A A G G A A C G C C A G C A T C A C C A C C G C G G T T C A A G G A A C C A A A G C A C C A A G C C G C A C G A A C A C C A G A C G C C G C A G G T A C G C A A T T G A A G C C A G C T C C C A C T C C A ASequence

[0 - 147]

C T T A C T C T A T T A T T G A

T C G

T A T T T A C C A T T A T T G A

G C C G T A G A A T A C C T C T A

T T C T A A C T C A A C C G A

C T T A C T C T G T T G A

G A T C C A A C C C C C C G

C T T A C T C T G

C C

G A C C C A T T A A G A

C C T T C C G G C C C G A A

T A A T A T T A G

T A C C T C G

T T G C T A A C C C T T G A

A G T G A C C T C T C A C

C T A G G T G G A C C

C G C A

G A C C C A T T A T A G

A G T C G A C C C T C T C C C C G

G A C C C A T G A

A C A C

C T A C T C T C C C T C T C G

A T A C T A A T C T C G T C C

G T C G C A

G A C C C A T G A

C T A C T C G A C C A C C G T C C

T G A

C A

C T C T A C C C A

C T A G A T A C C T A G A

T T

G T G A C C T C T C A

A T G A T C C C T A G

C G A C C A C C A C

C G A C C A C C

C G A C C A C C C T

C A C T A T A C C T C C C

T T C T

G A

C G C A G

A C A C

G A G

3,360 bp 3,380 bp 3,400 bp 3,420 bp 3,440 bp 3,460 bp 3,480 bp 3,500 bp

167 bp

2011_scaffold13

Fig. S1L



G G T A T G A C G T T T T T G G C G G C G G C T A C G G C C A G G C G T A T A T G T A T T C A A G C A C T G G C T T G C A C G C C C T C A T T G G C G G C G G C G G C T G G A A C G G C G G C G T G C G T T G C G G C T C C C G G A C G G T G G G T T G C A A C T A T T G C C C G T G G A A C G T G A A C A C G T A C G T T G G C G T G T G G T G C G T G T G T G A C A G T C T G T A A T C C C G T A G G G G T GSequence

[0 - 413]

A G A A A A A A T G G A G

C A A A

A A T A G

A A G T A G C A G G C

G G A A A A A A

A A

T T A G A

G A A C T G G A T A

A G A A G A

C A G G G G G T G G A

A A C C C A G

C A A A A A A A C C A G

A A A A

A A A A A

G T

A G A A A A T A G T G C

G A A A G C A G G G G A G T G C

A T A T A T C A T C A A

T A T A A T T G T G G A

A G A A G A A T C T

C C A A A A G G T T A

G G A A A G C A

G A C A A G G A C G A A

T T C T A A A A G G G T G C

G A A A T T A A

T G A A A G C A G G G G A

T T A A A T G C A T T A

T A T C T A A A A T A T G A G

T A G G A A A T T A A

A A C C C A G

C C A G A T G G A

G T T A A T A G T T G

A G A A A A T T G G A G

G A A A G C A G G G G A C A

A A A A

C A G

A A A A T T C G A T C G G

C A G C G G A A C

T C C A A C C C A G

G T A T T A T G A G A G

G A C A A C A T A C T A

A T A A A G T A

A T A T G A G

G G A A A

T T A A A T G C A T G

A A C G T A G A T T

C A A A A T A

G G A A A

C A A A A T A A G G G T G C

4,940 bp 4,960 bp 4,980 bp 5,000 bp 5,020 bp 5,040 bp 5,060 bp 5,080 bp 5,100 bp

201 bp

2011_scaffold152

Fig. S1M



G C C G G T C C C C A T C A G C T T A C A G C G A G T C A C A G A C G C A C C A C G C G C C A A A G T A C G T G C C C A C G T T C C A C G G A T A A A A G T T G C A A G C C A C A G T C C G C G A G C C A T C G T G A A C C C C G T C G T T C C A G T T G C C A C C G C C A A T G A G C G C G T G C A A G C C A G T G T T G T T G G C C A T G T A A A G C T G G C C A A C T T T C T G A C CSequence

[0 - 278]

A C G T C C G C G A G

A C C C C T A C C G C C T C A G A G

A C C C C G T C C C G A G

T A C C T T A C G A G

T T T C C C T C C C T A G A

A C T A A G A G C T T C C C

A C C C C T A C C G C C T C A G

A T A C T C C C C G

A C G T

C C T C A C A C C G

T C A G C C G G

G A C G T A C G C C G

G G

G

A G T T G C T C C C

A C T A T C G C C C C G

A C C C C T A C C T C G

A C C C C T A C C G C C T C G A G

A

A T T T T G T C A G A G

A G T

A C T A A G A G A G

A C C C C T A C C T C G

C T A C C T C C T C C C A

A C A T T C C G C G C G C C C

A C C C C T A C C G C C T C T C C C C

A C C C C T A C C G C C T

A C A T C C C

G A C G G

T A C C T C C T C C C

A G A G C T T G C A G

C C G C C T C G

C C G C C T C G A G

C C G G C C T C A G

G C C T C G

A

C C G A

T C C

G A G C

T C C C

G A G

T G A G

A C A C

C C

A

G A

A G

39,460 bp 39,480 bp 39,500 bp 39,520 bp 39,540 bp 39,560 bp 39,580 bp 39,600 bp 39,620 bp 39,640 bp

189 bp

2011_scaffold3

Fig. S1N



G T C C T C C C C A C C A G T T A C T C A G T A A C C A G T T T T C A G T T A T T C A T A A A A A G C G G A G C G G A A G C C G A G G G A C C A G T A G G A A A G G G A G C G A G G G T T G A A C A A G T T C G T G C A G A A C A G A C C C G C A T G C G C A C C G C C G G C C C A G C C G C C A C C A C G A A T C G G G A A A C G C T C G G C G T T G C C G T T G T T A A A G T A G A A G T A G T C G C C C TSequence

[0 - 144]

C T G T A G T C A A T A C T

C T G T A

A T C C C C G C A T C T G A

C C T G T A G C C T T C

G

G T C T A G C T A

G T A G C C T C T

G

C T C C T A C C G G T A T

T G A G C T

C C C

C C C T G T A G A A T A G

C T T G T A G C C T C T

G T A G T C T

T C T

C T A C C A T C C T C A

G C C T A G G

C C T A C C G A T G

C A C C T T T A G G

C C G C A T C T T

T A C C T G T A

A A

C C T G T A C C T C T

C T G A T G C C T T T T C T

G C T C C G C A

G C T G C C C C T C T

G C T T C G T G

C T

C C T G

C T A C

A C T A C T A T

C C A

C

C C T C T T

A

C

G G G

C T C G

C T G

C

C T G T A C C T G G T

T C T G T A G

A C T A C T A T

C T G T A C C T

C T G T A T

T G

7,040 bp 7,060 bp 7,080 bp 7,100 bp 7,120 bp 7,140 bp 7,160 bp 7,180 bp 7,200 bp 7,220 bp

200 bp

2016_scaffold57

Fig. S1O



C G G G G G A G T A T C T C C C C C G T T C C C C C T C G C T G C T T A C G C A G C A G C A A C A G G C G G T T T A C A A G A A A G G C T C G C C A C G A T G T T C G T G C T C A C G G C C G T C G C A G G G T T G A C C A C A T A C C A G T C C G A C A A A C C G C A C T T C G A C C C G T C G C C A C G G A G G C C A C C G A A C A G G G C A A C T G C A A C G A T C G T A T T G T T G A ASequence

[0 - 150]

C C G C T T A C A

G G A T G C

C C G C T T A C A

G C T A

T T T C T A

T T G A T G A G A C T A C A G

C C G C T T A C A T A

C C G C T T A C A T C C T A

C T A

C C C C G C T A

G

G G A T G C T A

C T A

C T C A A

G G A T G C T

T T C T A

A C C T T A

A T C T A

C

C C A T A

C G

T A C A T A

A

C T C

G G A C A T A

C T T C

A G

C A

C

C

C C T C T C T A

A C C G C T G T A C A

T T A A A T

C C G C T T A C A

A C T A

A

C T C C T C A A T A

C T G T A

C C G C T T A

C T G C C

G

C T G A

C T G A

T A

T A

G A

22,000 bp 22,020 bp 22,040 bp 22,060 bp 22,080 bp 22,100 bp 22,120 bp 22,140 bp 22,160 bp

192 bp

2019_scaffold132

Fig. S1P



T T A C C T A A A A T T G T G T G A A T T A C T G G T T G C C T G T T A T G C T G C T A C C T T T T T T C G A T A C A C C A A C C G A C C G C C G A T A G T C C G A T A A C G A T C A G A A G A A G C A T T A T A C A G A C C C C A A T A G A A A G C A C C G G C A T T C A A G C C A T A A T C C C A A C C A G C A C C C A A T C T A G C G A C A C G C C A A C C A G T A C C G T T C T G A T T C C A A C A G T A A T C A C C A A C ASequence

[0 - 169]

C C T A T G G C G C C

A A A T C T A C C C T C T T T C G A C C

C C A G

C T C C C C T C G C G C T C

C T T G T A C A T

C A C T T G C A C T A G C

A T

A C G

A A C

T G T C C G T C C C T G A

C A G T A A A G

C

C G A A A C

C A C

C C G C C G A C A C

A T A A C T C T T T C T C

C C C C G T C G C

A

C T A C G C C C A G C

A C C G T G A C A C A

A C C A G C T A C

C C C C A A A C

C C C T T A

C G T C G C T C G

C C C T T A T G G C C

C T C T C

C C C C T

C C G C C C C C A C C

A T G T A A C

C C G T A C C C A C

C C A C C T C A C T G

C A A C

C T C T T T C G A A C

C C C T

A C T

C C A G C A

C T C A C A

C C C T T C C T T

G C

C

T T T

A C

C A G C T A A G T C G G C

T C T G T C C C T C T T C C T

C C C A G C A C G

T T C

5,100 bp 5,120 bp 5,140 bp 5,160 bp 5,180 bp 5,200 bp 5,220 bp 5,240 bp 5,260 bp 5,280 bp 5,300 bp

211 bp

2019_scaffold260

Fig. S1Q



C A C G G C G C T C G A C G C C T T A A C G A G C C G G C C G C G G A A G G C C A G A C G A G A A C C G A T G T G C G T G T A C G T A T A C G A G G A A T C G T G G C T C G C A C T C G A C A C C G A A A C A C C G C C A T A C G G G C T C G C G T A G C T G T T G C C A C G A A A G A C C A C A C G G C T G G A G G C A G T G G A T A T G T A G T A G A T G T C G C A G T A A T T T G T C G A G GSequence

[0 - 311]

A T

T C T T A C T

C T T T C T T T T T T A C T

T A C T T C C T

A T T T A T C C

A

A C C C T C

C G T T C T A T C T G C T

C

T T T A T T T A C T A C T

A T C T T T T T T

C T C C

A G C A A T

T C T T A T C T C T

C T C T T A C C

C T T C T

A A C T T A T T T C T A T

A C T C T T A T A T

C A C A A G C A C C C A A G G G

A C T C A T A T A C T T

T

C

C T C C C T T A T A C T T

T C T T A T C

C T C C T T C A T T A C

G A A T A C

C T C C T T T A T T T G C T A T

A T C T A T C T A T T C T T A T

T A T T A A T G

T C T G A T G

A C C T C A T T T A A A T

T C T T A G T

A

C C T

C T C T T T T

A C T C G G A C C A T A T T A C C

T C T

C T G C

T

C T A A T

T

A T C T C T T G T T A A T

G T A T C C T A C T

C T C T C T A A T G

T T A T A T A T

G T T T T C T

A T T A A T

T C C T T C C A C T G A C G T G

4,640 bp 4,660 bp 4,680 bp 4,700 bp 4,720 bp 4,740 bp 4,760 bp 4,780 bp 4,800 bp 4,820 bp

194 bp

2020_scaffold1264

Fig. S1R



A C A C T G C A C T T C C T G T T G G T G A T C A T T G T T G G A A T C A G A A C G G T A C T G G T T G G C G T G T C G C T A T A T T G G G T G C T G A T T G G A G T A A T G G C T T G A A T G C C G G T G C T T T C G C T T G G A T T C T G T A T A G T G C T T C T T C T C A T C G T C A T C G G A G T A T C G G C G G T C G G T T G G T G T A T C G A A A A A A G G T G G C A G C A T A A C A G G C A A C C A G T A A T TSequence

[0 - 92]

G T A A T T T G A

C G C N

C A A T A T G G T A

T A G G A T C A G G G

C G G A G

G G C G

N N N

C G G A G G T T G T A A G A G G A G A

G A G

G G C G G C G G G G A G A G G G G G C

G C A T A A G A G G G

C G G G G G T G

G G

T G C T G G

G G G

G A G A G

G

A

G G A G T

A T

T

G A G G G T G G A G A

C T

G

G C T T G T A G A

G A G G T T G T A A G A G G A G A

G G A G G T G T G T A A G A G G A

C G

11,340 bp 11,360 bp 11,380 bp 11,400 bp 11,420 bp 11,440 bp 11,460 bp 11,480 bp 11,500 bp 11,520 bp 11,540 bp

207 bp

2200_scaffold1335

Fig. S1S



C A C A T A A C A A G T T T T G G A A T T G G T T T T A C G T G T A T T C C T G G T G C C A G G A A G T C T A T G C A C G C G A C G C G T C G C G C C G C G T G C A C C G T G G G T A C A A C T C G G C C C G C A G C T T C A A T T G G T A C T C G T C C G G C T A T C G G T A C G T G T A C C T C G G T T T C C G C C C C G T C C T T G A A G T C C T G A A C A C T G A C C C T C T G A T C T C T G A CSequence

[0 - 215]

C A A C A

T T T C A

A A A G C C G

T T T T T T C

A A T T A A G

T A A C T A G G A T

T A T G T A T A

T T G G C G G G

T A T T T T T T G G A T

A A A

A G G C C G A A G T

T T T A C G A G A

A A C

T T T T T T A G C

T A T T T T T A G C T

A A T T G T

G A A T T T A C A C

A A T C G T A C C A C

T A G T T A T G A C A C T

T A T T T A T C C G

T A T T T T T G

T

T A T T C T C A C C

A T C T A G T A

T A T T G A G G

A A A T C

A A A G C T T T A T A

T A T A A G G A G

T A G G A A G

T A T A A G G A

A A T T A C C A

T T T T T T C T

T A G G T T C T C A A G

T A T T C T T A T A C

T A T C T T G A T

A A T T G T T T

A

T A G T T A A

T A G T A T A G G G A G

T T T C T C T C

T T C T T T

T T T T G

T T A C T T A T T A

T A

T A T T C A T A

A G G A G A A A

A A A T

34,660 bp 34,680 bp 34,700 bp 34,720 bp 34,740 bp 34,760 bp 34,780 bp 34,800 bp 34,820 bp

197 bp

2200_scaffold2278

Fig. S1T



T G C T A T C G C A C G C C C T A T C A G T T T T T C A G T G T T C A G T T T A C A G T T A C T C A A C A A A A G C G G A G C G G A A A C C A A C G T C G T C G T T C G A G C C G G A A C G A G G G T T A A G C A A G T G G A G A G C G G A C G G A C C C G A A T G A G A A G T A T T G T G G A A C G C C G A C C C A C G G A G A G G C A A C C T T T C G C C G T G G C A T C T C A T C C A A A T C T G G T C G T T G C C A T A TSequence

[0 - 43]

T A A T

G T G A

G G G T G C A T A A T

T A T

C T G T A T

A T A A A C T

T C T T T T T C T

T T

T

T C T A A C T G T T T C A

C T A A T T C C G A

T A C C T T A T

T A C C T T A T

T A C C T T A T

C T C

9,420 bp 9,440 bp 9,460 bp 9,480 bp 9,500 bp 9,520 bp 9,540 bp 9,560 bp 9,580 bp 9,600 bp 9,620 bp

209 bp

2200_scaffold2352

Figure S1U



A C T G T T C A C C G A T A A C A A C A G T C G T A T C A A G A A A A C G T A C A A C G G C A C C G G T T C T G C T T C T T A C T G G T G G C T G C G G T C G C C T G A G G C G T C G T C G A C T T C G T C T T T C G C C A T T G T G T T C A A C A G C G G T T C C A G C A A C A A C G G C A A C G C G T C C A A C T C C T A C G G G G T G G C G T T C G G C T T C T G C A T A T A A T C T G T G C A T C T T G G G T ASequence

[0 - 345]

T G G G G C A A

G G T T A G G C C

A T A A G G T T A G G C

G G T T A G G C

C C

G G

C G G T T A G T G C

C A C T A C

C T C T A A A G G T A T C

A T T

A T G G T T C T T T C T

A C C

C A T T A T T C A T G G

A T T

A C

G C G C C

C T A A A T A A A T A A G T

A G G T T A G G

A C T G G G C

A T C T T T T T

G G T T A G G

A A A C

C G T

C C A C T A A T T T A T G T

A C C

C T C

G C G G T T A G G C T

A A G C A T A A C T

A A G G T T A G G C

A C G

C G C G A

A

G G T T A G G T

G T C

G G T T A G G

A C T C

G G T C A C T

G C

A T A G C G C

G G T T A G G C

G G T C

G G C

A T A G T A G T G

A A A A C A A A G A C G

G G T C C C

G

A A A A A T A A G T

A A T A T A

41,600 bp 41,620 bp 41,640 bp 41,660 bp 41,680 bp 41,700 bp 41,720 bp 41,740 bp 41,760 bp 41,780 bp

204 bp

2203_scaffold802

Fig. S1V



T G A C A C T G A C C G T G C C A T C G T C A G A G A C C A C G A G T G T A G A G G G A A G A A T G A A A G C G G G G C G A A C A C C A T A G G A G T A G T A G C A C C A G T C G C T G A G G T T G G C G C C A T C G G C G A A G A C G C G C C A G A C G T G G T T G T T A T A G C C G G T G T A C G G A G A G C G C A G C C A C C A A A T G G C A G C G G A G C T G C C A T T G T A T G C A A T A C G C T T G C T G T T A C CSequence

[0 - 227]

C C T T T C

G

A T T T C C T A C T T

A C T A

A C T T A T T C C T C C A T C T C T A G C C C T G

T T T T T G

A C T A T A T T C C T A C T T

G C

G

G

G A C T A T C C T C C A T C T C G

A C T A T C C T C C A C T C

C T A T C A T C T C C A T T C

C

T C T C

A C T A T A T C T C

T T T T C C T C C A

G C

A C T A T C C T C C A T C T C

C T A T C C T C C A T C T C

C T

A T C T C

A T C T C

A T T T T C

A C T A T C C T C C A T C T

A C T A T

24,940 bp 24,960 bp 24,980 bp 25,000 bp 25,020 bp 25,040 bp 25,060 bp 25,080 bp 25,100 bp 25,120 bp 25,140 bp

207 bp

2204_scaffold14

Fig. S1W



G A T T A C T A T T G G A C T C C C A C A G G T G G T A G T A C G T G G T C T G C T G T A G G C T G G T A T G G T G C C C T T T T G T C T G C T C A T G C G A G T A A T G G T G C G G G T G C G G G T T T C G G T T C T C T G G G T G C G T A T G T T C G T T C C T C G A A T G C G T A T G C G T A C C T T G G G T T C C G C T T G T G C C G T T T T T G A C G G A C T G C A A A A C T C G G T G A A C G GSequence

[0 - 195]

G T C A T A

T

C T A A

G C G G G A A A T A A T

G A A A T A A T

G A

T A A T T A G

T C C T C A A G G A A

G

G T T C C

G T T

G T A T G G G G A G A

C

A C A A

G A G G A A

A T A A T

T A T A G A A A T A

A C G G T G

G T T A G T A A C T A G G

T T C C

C C G C A

T G C C A T A C A G T A T G G

A T T A C T A A T

T C T

G

G C G G T G A A A G T

A T T A C C C

T C C T C C T G

G

3,220 bp 3,240 bp 3,260 bp 3,280 bp 3,300 bp 3,320 bp 3,340 bp 3,360 bp 3,380 bp 3,400 bp

198 bp

2204_scaffold211

Fig. S1X



A G A T T T T C A G A T T G C C A G A T T A C C G G A T T T C C G G G A T A T A A G C G G C A C G G A C G C C G A T G T A C G T G C C C A C A A G G C C G C G G G A G T T G A G G C C G C T G A G G G A G A A C A C A C C A G C G T T C G C A C C G T T G T A C C A G T C G C C C C C G C G A A A C A C G C A G C G C T C G G C T A C G C C G T T A T T C C A C C A C A T G T A G T C G C C C T C G T A T A C G TSequence

[0 - 189]

C A C C T T C G C C A C

A A G A G C T C C C

A C A A T T T C G C C C C

A T A C A C C C C C A

A C G C C A T T T C C C C

A C G C G T T T

A G C C C T A C C C

A C T G T T C C C G A

C C

A G A A G C C A C T C

C C A G A

C C C G C G G

A A G A T C G C T C T

C T C C A T T

A C C A G G A T A T C G C G

A C G C C C C C G C A T

A C C

A A G A G C C

T T

C A C C C T A C C C G A

C C G

A G G C G C C T A C C G A T C

A A A C T A T G C T T C C C T G C

A C G G A

A G C C T T T A

T T C T T A G A T A

A C C G T T C C T C C G T T

A G C C T C T A A T T T C C C C C T

A A G A G C G C G C C

A C A T T G C A C C C C G

A C T T C A A T T T C G C C G A

C C C G

A C T T C C C C G G C C C

A C T A A G G A T C G C G T

T A C T G C C C C

C T C C T C C C C T

A

A T G G A T A C A

A T

T T T A G A G C C C G C C

A G T T C C T T G C C C

A

T G A G A C C T A

26,220 bp 26,240 bp 26,260 bp 26,280 bp 26,300 bp 26,320 bp 26,340 bp 26,360 bp 26,380 bp 26,400 bp

201 bp

2204_scaffold812

Fig. S1Y



A C T T A T T T C T G T G A C T A T T T T T G G G A G A A T T C A G C A T C A T C C A A A G G T C T T C G T G T C C G C C T C T C C G G T G C T C G C G C T A A C G T T G G C A C G G A T G C G G G G G C G T T T G C T A C G A A T T C G A A C G G T G C G G C C T C G T A T T C G T T T G C G T A T G T G T C C G C T C C C C T C T G C T T C T T T G A T G C G G A T C C A G T C A T G T C G G C T T A A A ASequence

[0 - 86]

C

A A A A T

G

A

A

C C

C

G C C C C

A C

A

A

T G

A

A

G G A G C

C

1,700 bp 1,720 bp 1,740 bp 1,760 bp 1,780 bp 1,800 bp 1,820 bp 1,840 bp 1,860 bp 1,880 bp

200 bp

2207_scaffold2979

Fig. S1Z



G G T T C C T C C T C G A C A A A T T A C T G C G A C A T C T A C T A C A T A T C C A C T G C C T C C A G C C G T G T G G T C T A T C G T G G C A G C A A C T C C G C G A T C C C G C A T G G C G G T G T T T C G A T G T C G C A T G C G A A C A G C G A T T C C T C G T A T G C G A G C A C G A G C A T C G G T T C T C G T C T G G C C T T C C G C G G C C G G C T C G T T A A G G C G T C G A G C G C C G T G GSequence

[0 - 368]

T C C T A A A T A

A G T T C T T C C

G A T A A T C A A

A A T A T T C T A C A

C G T T G T T A G T A A T G T G A

C G T A A T T A T G G T C G T T T G G C G

G A A A G G T G T A A C A

G A A A A A G T A T A G T T

A G C T A C T A A G A G C

C A G T A T T A G G T T A

C G T T A T

T C G T A T G T C G T A A T A

T A T A T T A C C A T A

T A G A G A T A G G C A T

C G T T A A T G T G G T A C T A C T T T

G A A

T A A T G T A A

T A T A A G A T C A A

T A T G A C A A A T G T A T A C C

C G T G G A C A A A T A

T A T G T A

A A G G T T T C C A T A T

G A T A A A C A A A T A

A A G G T G T A A C A G

A T A

A A G G T G T A A T G C C

C

T A A T A G C A

A A T C A A

A A G A A

C A T A A T C G C A A C A

A G G T G T A A C A

C G T G T G C

T G T A G G C C

A A G A T G C A A G A G

G G A G G A G G A T A T A

G

T A G A G

T A A A

A A G G A C A A

C

A T A A A A C A A T A

T A A G A A T A A G C G A T A

C G G G T A G T A A T G C G

A A T A

C C C G G A G T T T A G T G G A T G G A T G C G

T C G T T G A A C T T A T G C C

T A G A T A T G T T A A A G A

4,060 bp 4,080 bp 4,100 bp 4,120 bp 4,140 bp 4,160 bp 4,180 bp 4,200 bp 4,220 bp 4,240 bp

202 bp

2207_scaffold314

Fig. S1AA



C T G T C A G A G A T C A G A G G G T C A G T G T T C A G G A T T T C A A G G A C G G G G C G G A A A C C G A C G A T C G A G A G G G A G C C C G T A G C A T A T T T G C C G T T G T T C C A G T T G C G G G C C G A A T C G T A C C C A C G G T T C G C A C G G T A C G A C G T A T T C G A G G A A T A C G T C T C T T G A C A C C A A G T A T A G A C A C CSequence

[0 - 202]

T C T A A C G C C G T C A

A

T C T A A G A C A

T

A A G C G

G

A G

T A G T G A C G C C G T C A

T

C G

G T A

T C T A A G A

G C G

G A A A T

A A G C G

T C C

T

C C C

G T C A

T A

T A G T T A C C

T A T T

G

T C A T A G G A C A

C T C A A C A G

T A G T G C G C C G T C A

T A

T A A A G C G

A

T T C T A A A A G C G

T T

T C A T A C A A A A A T

C T C T A A G A A G T

C T C T A A G A C A T

1,880 bp 1,900 bp 1,920 bp 1,940 bp 1,960 bp 1,980 bp 2,000 bp 2,020 bp

176 bp

2209_scaffold1451

Fig. S1BA



G C C C A G G C C G T G A G C A A C A G C G A G T A C A C C G C C G G T G A C T T G A G C G C G T C G C A G A A T T G G T G G T G G T G G C T C C G T T C C C C G T A T T C G T C G A G C G C G T A C A T C G T G C G C T G C G T G A G C T C G G A C G G G A G C C T C A C C G G C A G C G A C G G C G C G T A C G A C G G C G T C A G G G G T G T G C G C C C G G C T T T G A A T C T G T C A T C T G A C A T C T T G G T A T C T GSequence

[0 - 111]

T T A G T A C T C C

G

G A A G G T A G C T T A A A

C G A G A T T A G T C C T C A C

C A T A C A

T G

A T G

A A T A A T A C T A G C T C A C

C A T A

G C G T C A T A G G A T A T A G

A G A T T A G T C T A G C T C A C

A G A G T A C G

C G T A G C T T A A A

C A C G A T T A G T A A A G C G

C G A A

C T C T A G C T C A C

C G C T A G C T C A C

C C C

C A G A T T A G T A A G C T C A C

C A G

C A A A T A

A G C T C A C

G

G C T C A C

C A G A T T A G T T A G

G A A T G T A A C A

A A T A A T C A

C

C T

A

25,460 bp 25,480 bp 25,500 bp 25,520 bp 25,540 bp 25,560 bp 25,580 bp 25,600 bp 25,620 bp 25,640 bp

210 bp

2209_scaffold2350

Fig. S1CA
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